
BIG NERF RAILSBIG NERF RAILS
FOR 2018+ POLARIS RANGER & RANGER CREW
P/N: TF-RGR1000-BNR, TF-RGRC1000-BNR

Thumper Fab
5103 Elysian Fields Rd, Marshall, Tx 75672

Customer Service: 903-472-0928

www.thumperfab.com

Aluminum Audio Roofs     Bumpers & Roll Cages     UTV Accessories

P/N: TF-RGR1000-BNR, TF-RGRC1000-BNR
FOR 2018+ POLARIS RANGER & RANGER CREW

PARTS

 
 

P/N: TF-RGR1000-BNR, TF-RGRC1000-BNR	 2018+ Polaris Ranger Big Nerf Rails

   INSTALLATION INSTRUCTIONS

1. Attach mounting arm to 3 holes at back of each nerf rail using M10 x 25mm bolts, nuts, and wash-
ers. 

2. Drill pilot holes on vehicle in the three locations shown above using 1/4” drill bit.           

3. Using 1-1/2” hole saw, cut holes in same locations.

4. Enlarge hole in frame in each location using 17/32” drill bit.

5. Raise nerf rail into place and insert two M10 x 100mm bolts through front & middle hole, and mount-
ing arm through rear hole. 

6. Secure bolts & mounting arm with nuts & washers . 



BIG NERF RAILSBIG NERF RAILS
FOR 2018+ POLARIS RANGER & RANGER CREW
P/N: TF-RGR1000-BNR, TF-RGRC1000-BNR

Thumper Fab
5103 Elysian Fields Rd, Marshall, Tx 75672

Customer Service: 903-472-0928

www.thumperfab.com

Aluminum Audio Roofs     Bumpers & Roll Cages     UTV Accessories

P/N: TF-RGR1000-BNR, TF-RGRC1000-BNR
FOR 2018+ POLARIS RANGER & RANGER CREW

PARTS

 
 

P/N: TF-RGR1000-BNR, TF-RGRC1000-BNR	 2018+ Polaris Ranger Big Nerf Rails

   INSTALLATION INSTRUCTIONS

1. Attach mounting arm to 3 holes at back of each nerf rail using M10 x 25mm bolts, nuts, and wash-
ers. 

2. Drill pilot holes on vehicle in the three locations shown above using 1/4” drill bit.           

3. Using 1-1/2” hole saw, cut holes in same locations.

4. Enlarge hole in frame in each location using 17/32” drill bit.

5. Raise nerf rail into place and insert two M10 x 100mm bolts through front & middle hole, and mount-
ing arm through rear hole. 

6. Secure bolts & mounting arm with nuts & washers . 


